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Note: The answers to short answer type ques-
tions should not exceed 200 words and
the answer to long answer type questions
should not exceed 500 words.

L FeafoRea & oy ser S - 1x10=10

Write short answer of the following:

(a) Fr=foRad ¥ & sF Tie S 3 = &1
Which one of the following is not a nu-
cleophilic reagent :

(i) HO

. Q]

(i) NH,
(i) H,0
(iv) SOs3

(b) waTE SIS f& &7 CH, araw-:ra?rvr NH,
& T DT I 3R ?haT & ofafd aml o E"r
sp> HaRU] BT 2
Explain why the bond angle of CH, is
greater than that of NH, although both
are sp?® hybridised.

(c) fmiciad @ 3% ®nfe & wgd g¢ o7 o
AT HifsTe

Arrange the following in increasing or-
der of their stability :
() CH,
(i) cH, CH,
2
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(iil) H,yC ‘i ®
C

(!\") HhC \t
H_,(,.

H

(d) amﬂ iR R il arcerger, el i
e A soaeE W aifiaa A vle
f‘?mr'ﬁﬁ A &

Explain why alkynes are less reactive
than alkenes towards electrophilic re-

agents.
() 2.3~ ggﬁﬁﬂ?fgﬁ ¥ A B0 & ey foser
gaor i foRav|

Write the Fischer Projection formula for
meso form of 2, 3 - Dichlorobutane,
(f) U 3Teoe aNsnfeiR & ar@ URICH & @
3107 TN 21 3TEEI el |RET 3R angepdio
FrT foTRae |
An alkene gives two molecules of Ac-
etone on Ozonolysis. Write down the
structure and IUPAC name of the alk-
ene. |
(g) et i 3ifdifesen i Rae o ﬁﬁ\fb(‘hdl |
& ey faepes adr @
Which one of the following halogens gives
an explosive reaction with Alkanes:

3 P.T.0.
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(i) 1,
(i) Br,
(i) CI,
(iv) F,

(h) E, z-9gfr % 3R Frafefaa e @
fo=ma fofae
Write down the configuration of the fol-
lowing compound accordingto E, Z sys-

tem of nomenclature.
H CH
\C:C< 3
H,C™ CH,CH,
(i) F=loteg difer 7 9 o wits diffs
Tel &7
Which one of the following is not an aro-

matic compound?

(M) Q (ii ©

& ~H

(iif) @ (iv) U

© Ny

|
Scanned by CamScanner



19/1239

(3) st 3 R aite arg aeer oy <iean & war-

Number of Sigma and pi bonds in

Propyne are respectively-

() 4,2

(i) 3, 1

(iii) 6, 2

(iv) 5, 1

gDy - 929 / Unit - I
U qERidiad a3 fade & fafi fafear
B-BF @ B &2 ydd veR & faEsd &
Reiferdt & o, fpameer wezafcal o d<amr 3k
BRI BT dquiH DifTe| 10
What are the different methods for the fis-
sion of a covalent bond? Describe briefly the
conditions for each type of fission, structure
of reactive intermediates and factors affect-
ing the stability of reactive intermediates.
| 31 / OR

SrafaRea § 9 feel OR W sféna won foRav|
Write short notes on any four of the follow-
ing: 2.5x4=10
() et 3 deleriaor s B 9o e

fpar faferl

Mechanism for free radical halogenation

reactions of alkanes.
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-5,

(i) BB a1
Hydrogen bonding

(i) RO gHE
Inductive effect

(iv) BIC gerdl # aerg-a-1g
Ring strain in small rings

(v) @l sififpar
Kolbe Reaction

gbTs - fgefiar 7 Unit - 11

(@) n-=xeH & fafirr ouol @ T ard)
S IS RITY qoT Tt B Y Gwqoi
@ ReRaT & SR B smE DS 5
Draw the different conformations of n-
Butane. Explain briefly the causes of sta-
bility of most. stable and least stable
conformations of n-butane.

(b) wlited s B eI wHEgEar @1 guig
G311 5
' Discuss Optical Isomerism in Lactic acid.
3Ydl / OR
fFreferRea % smr W S - 2.5x4=10
Differentiate between the following :
(i)  fo=m 3tk <egor
Configuration and Conformation

(ii) mﬁammmﬁﬁwmﬁﬁnml

Enantiomers and Diastereolsomers

6
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(i) 3refer @y il fegarey Ledber e
Axial bonds and equatorial honds.
(iv) W difies ail Wkt fismo
Meso compounds and Racemic Mixture
$BI - el / Unit - IXX
6. FmfaRaa w wftie fuol fofae : 2.5x4=10
Write short notes on the following :
(i) vedEd & Frofenaor @ fpar-fatern
Mechanism for dehydration of aleohols.
(i) Sier-veeR aifiifsar
Diels-Alder reaction
(i) ©RNfEesT & snuifeded @wel d3@
Molecular orbital structure of Acetylene
(iv) ST & UBR
Types of Dienes.
3RIdr / OR
7. R sifmamst o gof Site- 2x5=10

Complete the following Reactions-

(i) H,C=CH, +KMnO, +H,0——

(i) H;C-CH = CH, +HBr - Benzonl__,

Peroxide

(i) HyC-C=CH+2HBr - - -
(iv) HC = CH + H,0 —H;50, /HQSO,

333K
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(b) H;0, / OH"
g8 - el / Unit - IV

8. FmafRea & =men e - 2.5x4=10
Explain the following :

(i) m@éﬁ?aaﬁﬂfﬁﬁwmﬁwmtﬁﬁﬁ-
AT AT ST @ Sl aeast, B

O w amf sk iR FR-

Ao e Al 2

Gi) e ik aefase o Wit argrTe TRaAI
fafael
Write down all the resonating structures
of Naphthalene and Biphenyl.

(i) &P @ FaH |
Huckel's rule

(iv) TeEd iR oRe demget & |t fbarierar
Relative reactivity of alkyl and aryl ha-
lides.

- 3dar / OR .

9. [ fovam | 31T T FHEd &2 SN! 3R SN?
st &) fesantafer fofae| 5= = arficsamsn
F T 3K &§° 10
What do you mean by substitution reactions?
Give the mechanism of SN! and SN? reac-

tions. What are the differences between
these two reactions?
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